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Eleven people P, Q, R, S, T, U, V, W, X, Y and Z
lives 1in a building but not necessarily in the same
order. There are eleven floors in that building and
only one person live on each floor. Ground floor
numbered is 'l' and above the floor is ‘2’ and so on
the top-most floor numbered 1s '11'. There are only
three floors between Z and R. Z lives above R . U,
P and Y do not live on odd number floor. W lives
immediately below to X. There are only two floors
between R and X. P lives exactly between R and V.
Q lives fourth from the top. Y lives immediately
above to S but does not live above to R. Number of
person lives between T and Z is same as the
number of people lives between S and W. R and X
do not live on the fourth floor. R lives below sixth

floor.

AR P, Q,R, S, T, U, V, W, X, Y 3IR Z

Ueh SHILA | T&d & ook STl -Tel fop et e | =1

39 3N H NS B @ T ek HiSTe U shaldd

Ueh S ch L&dl & Yot shl AT '1' @ 3T qet o FW
' 2 IR ZETAT Fo® U HiSTd |WHEAT'11' Bl Z
3R R o S ohdd i HISTA 8l Z, R o 39T &l
21 U, P 3R Y foom dem areft wiste 7 =i @ 2
W, X o 3l == T&dT &l R 3T X & st shadl &l
ARSTT 81 P, R 3T V o Sk s H W@aT 8l Q R
NI TAF WIEAT 2l Y, S o 3leh HU &dT @ Al
R & S 81 Tl =l T 3R Z & i< & a1
SIRAT h! G&AT 4T &1 & TSIl 1oh S TR W ok
S T T AN ohl T R 3R X =teft 6fee
7€ Ted 21 R D31 Hisiet o =i T 2




Eleven people P, Q, R, S, T, U, V, W, X, Y and Z

lives 1n a building but not necessarily in the same

order. There are eleven floors in that building and
only one person live on each floor. Ground floor
numbered is '1' and above the floor is ‘2” and so on
the top-most floor numbered is 'l 1'(1“ here are only
three floors between Z and R. Z lives above R . U,
P and Y do not live on odd number floor. W lives

immediately below to X. There are only two floors

between R and X. P lives exactly between R and V.

Q lives fourth from the top. Y lives immediately

above to S but does not live above to R. Number of

person lives between T and Z is same as the
number of people lives between S and W. R and X

do not live on the fourth floor. R lives below sixth

V
floor. )
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@EK&YR@CAM®@$VQ#P%SIW*O%(I)G
U

If all_consonants are replaced its next letter, then how many alphabets are
repeated in the new arrangement?

gfe gt STSHT ohl Ik ST I T Fod [T ST, a7 95 ST | fohd 3181

SIEUT STEA?

(a) Four
(c) Three
(d) Two

(¢) None




@E(f(&ﬂi@C%WJIw/*ﬁ@

How many such symbols are there in the above arrangement each of which
1s immediately preceded by a consonant but not immediately followed by a

Vowel?

Ife Tuft AT Al 3Gk ST 18R B Fed fear S, ot 75 oqq{-wﬁﬁ)'—clﬁ A&

ST ST QL 7%7

(a) None (b) Four (c) Two (d) T 1ree\/M9re than Four




‘ ) VR YR <)
@EK&YROCAM®ULSVQ#P%SIW*OTPG

) S

Four of the following five are alike 1n a certain way based on their position in the
above arrangement and so form a group. Which 1s the one that does not belong to

that group?

SRR SIEAT H 379+t fXufe o 31mam o FA=feiRad o 4 9 9 ues fAfsa
qdioh § T & 3T 3ETT T §HE A1 ol 98 i 1 8 S 36 998 |
Geferd T8 |2

(a)ER&  (b)CUM () L#V \@ (e) SOW
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@EK&YR@CAM@UL$VQ/#P%]SIW*OTq)G

How many such alphabets are there in the above arrangement

each of which 1s immediately preceded and immediately '

followed by a symbol? %@ g
SUUh SIIET B UH fordd 3781 2 IS99 8 ek o dieh U8t 3T 3tk
ST H Teh Tl 27

(a) None ( (b) One ) (c) Two (d) Three (e) More than three



* L
@EK&YROCAM®PULSVQ#P%SIW*OTOG

Which of the following element 1s 10th to the right of the at
element which 1s 18th from the(right end)

freferfiad o @ o1 |1 dedl gR— B H 184 deel o <& H 1041 8?2

o —

(a) # (b) P (c) % @ (¢) None of these
L L
K £t

A




Statements:
- — )
M <N S R=S<T

& J
Conclusion

I:.M=0 ><

II: N <SS \/




Statements:
— !
C2D=ESF<GS<H

anclusion :J
C2F X C33F\%>
F>C X C £ F



Statements:
\
S>U2V=WS
__ _J

Conclusion:

[ S>W /

mLuy X

)
Y

<7Z



Statement:
M202L2T=E>

D
J

k_’/
Conclusions:

. D<O

II.M2E /



Stater»enu

B<C=D<X<Y
- ),

Conclusions:
. B<X /

. Z<C X

o



In a certain code a number HERO is written as 34 . How is MAN written

in that code ?

Uk AT e # Ueh §&aT HERO &1 34 F &U A fe@ar AT 21 S@ g W

MAN T ¥ foraT Smar 22
|

w2 wed K g R <{> " ’E‘ N
B2 7 2}
&30 \/[ L \ ,,
(D) 49 2 12

(E) None of these /-\/@



\
In a certain code a number NOSE is written as 18T4F . How is JOKE

written in that code ?

ueh fAfara s W ueh T&AT NOSE &R 18T4F & ®9 H fo1aT Sran 21 Su hie

H JOKE <! ¥ for@ar Aran 82
M |5 19 ¢ (
(A) 1004F N O S E

(B) 10L5F /m/:
g T uf

(D) 234
(E) None of these




\
PN In a certain code a number HE is written as 88 . How is NO written in

—
that code ? @

Uk AT i W Uk GEAT HE &t 88 o ®U W {1t ATt 21 33 SIS § NO
& ke ferET AT 22

st H E — g3 No
o
B)1718 ?3/3 \; Y, @
—(Cy2022— <Y
(D) 1923 > 12 \ 5 2

—— [R5 | 7
(E) None of these 6 [ @ @



\ How many pairs of letters are there in the word ‘CONDITON’, each of
which have as many letters between them (both forward and backward
direction) in the word as they have between them according to English
alphabetical order?

31o¢ 'CONDITON' H 378 o UH fohde S &, S8 9 Ik o o9 Ireg °
(3TN 3T 1= g feRTTeAl H) I & 2781 8, NI AUST JomTe shd o6
STTHT 3%k 1<l A1 &7 CONBE TON

3 1S MM ge 1S 1y

N —/
(a) None (c) Four (d) Three (e) None of the?e/




\
Statements: h¥d:

All Green is Blue. aeft 17 o &

All Blue is Yellow. gt s IAT &

No Blue is Pink. ohig ATl TeTTsll a1 2l
Conclusions: e

[. No Green 1s Pink Oh\l‘.-g o\l ‘\!)Q"||®|h| Tel &

NI o o
II. Some Yellow 1s not pink ERNI U T2l &



\
Statements:

All Green 1s Blue.
All Blue 1s Yellow.
No Blue 1s Pink.

Conclusions:

I. No GreenisPink ~

II. Some Yellow 1s not pink / @
P



\
Statements: EXEER

Only a few Apple 1s Mango. A S gd 37 2
Some Mango 1s Guava. @'@ﬁ"ﬁ‘l@ﬂgﬂ g,
Conclusions: IEL=ak

All Guava 1s Apple gvt 3TEe Od &

II. Some Guava 1s not Apple R IES O :l_eﬁ%



\
Statements:
Only a few Apple i1s Mango.

Some Mango 1s Guava.

Conclusions:

All Guava 1s Apple
II. Some Guava is not Apple /(




\
Statements: h:

All Cloud are Rain. Yl FA13S \{"I %

Only a few Cloud are Water. ha D allSS Al %|
Conclusions: ﬁ'bT:Fle;

I. Some Water is Rain %S 3 KRG

II. All Rain 1s Water '{:ﬁﬁ\{"l dTel %



\
Statements:

All Cloud are Rain.
Only a few Cloud are Water.

Conclusions:

I. Some Water 1s Rain /
II. All Rain 1s Water /O




Statements: <hd-:

No Amit is a Raj. hIg ATHA, TS T 2
Some Raj are Anil. S T, A 2| o0
Some Ram are not Amit. 4 Y, AT 7T 2

All Anil are Kalam. Tt oTfet, e 2
Conclusions: Trreer:

I- HS HeTd, T 2

I1- D TS o ATHA T A hl Teh
HHTSAT 2|

I- Some Kalam are Raj.

II- Some Raj not being Amit is
a possibility.



Statements:

No Amit is a Raj.

Some Raj are Anil. Pt }—%
Some Ram are not Amit. @
All Anil are Kalam.

Conclusions:
I- Some Kalam are Raj.

II- Some Raj not being Amit is
a possibility. >(



Statements:

All Mona are Sona.
All Riya are Hina
No Mona is a Hina.
All Dev are Sona

Conclusions:

I- Some Mona are not Hina.

II- Some Sona are Deyv.

et /T, 9T 2
Tt fm, f2ar 2
i3 /AT, T2=T 7= 2
QT <, |1 &l

I- S 9T, AT T B
[1- S €T, 39 8



Statements:

All Mona are Sona.

All Riya are Hina

No Mona is a Hina.

All Dev are Sona

Conclusions:

I- Some Mona are not H a /

II- Some Sona are Dév.




All the six members of a family A, B, C, D, E and F are travelling together. B is
the son of C but C is not the mother of B. A and C a;e a married couple. E is the
brother of C. D is the daughter of A. F is sister of B.

T URAR o T+t B8 S A, B, C, D, E 3R F T AT ATAT H E 2l B, C /T IA
BT C,BRIATTE 1| AT C TaTea Mg 81 E, CHTHTE 81 D, AT AT B | F,
B T & 2

Who among the following persons is the son of A?

e feTRad 38 i 61 a6 A 1 IF 52
(A) B / (B) D
(C) F (D) E




\
Point A 1s in 8m north of point B. Point C 1s in 4m east of point B. Point D 1s in
5m south of point C. Point F 1s in Sm north of Point E, which 1s 8m east of point

D. Point F is in 4m west of point G. Point H 1s in 8m north of Point G.

foig A, foig B o 8 et s H ) foig C, g B 4 Hiex g # 81 foflg D, feig C % 5
nﬁaa?wﬁ%n%m: quohsnﬁztwﬁ% a%%HDéasnﬁaqa‘ﬁ%n%mF%ﬁ
G ¥ 4 HerulBm s 31 |®1<:H foig G ¥ g fler i 3

What is the shortest distance between Point A and Point H? / %l’g; A 3R %ltq; H%
qey A gl fehel &2

(a) 12m (b) 14m (c) 16m (d) 18m (e) None of these



\
Point A 1s in 8m north of point B. Point C 1s in 4m east of point B. Point D 1s in
5m south of point C@oint F is in 5m north of Point E, which 1s 8m east of point

_D. Pomnt F 18 1n 4m west of point G. Point H 1s in 8m north of Point G.

%EA fsig B o 8 Hiet ST H &) foig C, foig B % 4 At = H & fig D, fsig C % 5
nﬁaa?wﬁ%n%m: quohsnﬁztwﬁ% a%%HDéasnﬁaqa‘ﬁ%n%mF%ﬁ

G ¥ 4 frer it o 2| f [oig H, fsig G  TeT I H 2

5 H
.
N 3 |3
8 <—C = ¢ — G
\.1
Q’S IS ®
g




\
Eight persons A, B, C, D, E, F, G and H sit in a row facing to the north direction
but not necessarily in the same order. B sits 3rd from the right end. Three persons
sit between H and B. D is the only neighbour of F. E sits immediate left of G,
who sits 2nd to the right of A.

TS AfE A, B, C, D, E, F, G 3 H T Ufth H 3t femm sl TR 7@ &tk 96 <,
AR STt et for geft ohe o €11 B SR ®IX 9 el €9 W SaT 21 H 31K B & si= =
it i3 €| D, F o1 THAT TSHHT 21 E, G o 3ih oIT¢ 13T ©, ST A o A1¢ § GHL T
TR ST R

Who among the following sits 2nd to the left of F? / MATIRId H ¥ i F o6 910 |
T T W 43T 8?7

Ca) B) (b)H (c) A (d)D (e) None of these




\
Eight persons A, B, C, D, E, F, G and H sit in a row facing to the north
direction but not necessarily in the same order. B sits 3rd from the right
end. Three persons sit between H and B. D i1s the only neighbour of F. E
sits immediate left of G, who sits 2nd to the right of A.

C H D E D F

N )
e 7




*

Eight boxes are placed one above the other in a stack. Not more than two boxes
are placed above box Q. Three boxes are placed between box Q and T. Two
boxes are placed between box U and S, which 1s placed below box T. Box U does
not place immediate above box T. Box P is placed immediate above box V. Box
R 1s placed above box W but does not place above box V.

Teh &L H AT Teodl Ueh o U Ueh Thleh T U 8| S99 Q oh 1T &l ¥ ATk ey gl
WY U Bl S8 Q 3 T oh S i st W 7T 8] sife U 3R S o o= a1 e 1@
U g, S s T o A< W1 =T 8| sied U, Sie T oh 1ok 39T A8 TdT =T 8| sied P
ST V oh 3lh ST WET T-T 2| ST R ST W ah HUL TdT TRIT §, Afh ST V o
9T T TET T 2

Which of the following box 1s placed immediate above box W? | FefaRaa d |
i @1 feoar, fesam W ok Sieh U W@ =T 22

(@a)S (b)T (¢)Q (d)U (e)None of these




\
Eight boxes are placed one above the
other 1n a stack. Not more than two

boxes are placed above box Q. Three

boxes are placed between box Q and

T. Two boxes are placed between box
U and S, which is placed below box T.

/

Box U does not place immediate

above box T. Box P 1s placed
immediate above box V. Box R 1is

placed above box W but does not

place above box V.
s

|
|

O

N\

|

JUEE= C, o I

(A
5
Y
§
3

TSI (R <

— |

7
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\
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‘ Ten persons sit in two parallel rows containing 5 persons in each row 1n such a way
that there 1s an equal distance between adjacent persons. In the 1st row P, Q, R, S
and T sit and all of them face south. In the 2nd row A, B, C, D and E sit and all of
them face north but not necessarily in the same order. Two persons sit between E
and D, who sits diagonally opposite to S. E faces Q, who sits 3rd to the right of R.
C faces P but not an immediate neighbour of D. B sits to the left of A.

ag Sk g1 YA Uikl H Tl Ulth H 5 Sfth 39 YR S3d & foh ATE~T AT o
St e 9T gt 2| T8l Uitk | P, Q, R, S AR T o3 § 371 3 w+fl =1 7@ afeaor sh
ﬁt%laﬂfﬂfrﬁﬁA B, C, DﬁTE%%ﬁtéwﬁW?ﬁaﬁth@%ww ST
71 o =6t ohm 1 21| E ST D % "o saih a5 §, s ¥ fred R daT 2 E, Q&I
X I &, ST R o6 1 ¥ 6L T TSI 81 C, P 3l 3T 3@ &, Wfehd D
Hehead Ted! el 3l B, A o S 93T &




‘ Ten persons sit in two parallel rows containing 5 persons in each row 1n such a way
that there 1s an equal distance between adjacent persons. In the 1st row P, Q, R, S
and T sit and all of them face south. In the 2nd row A, B, C, D and E sit and all of
them face north but not necessarily in the same order. Two persons sit between E
and D, who sits diagonally opposite to S. E faces Q, who sits 3rd to the right of R.
C famnot an immediate neighbour of D. B sits to the left of A.

- % =

S@PTR

/ ~_._I’.\ PR RS T \\ ‘}"

, | AR R@cCD- ] Il ‘\\




‘ Eight persons sit around a circular table. All of them face inside. F sits third to
the right of E. Only one person sits between H and F. A sits opposite to D. C sits
third to the left of G. C 1s not an immediate neighbor of B. D is not an immediate
neighbor of H. G 1s an immediate neighbour of E.

TS Hfch Teh JATRN Al o ART AR I3 &l oF Tt 3G T |HAT Ld & F, E o SR & el T
T §3T 8l H 3T F o sl shelcd Ueh A Th S3T 2l A, D o faufid d3T1 81 C, G o o™ ¥ e T T
3T 2l C, B o1 fHeheaw u<ie =€t 81 D, H T Hehedd TS 21 @ G, E o1 shead uerE! 2|

Who among the following sits opposite to G? / HEfTRad T & i G o foaiid &3T 82
() H
(b) B
(c)D
(d) F

(e) None of these



\ E1ght persons sit around a circular table. All of them face inside. F sits
third to the right of E. Only one person sits between H and F. A sits
opposite to D. C sits third to the left of G. C 1s not an immediate
neighbor of B. D 1s not an immediate neighbor of H. G 1s an immediate

neighbour of E.



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not
necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily
in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.
Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on
number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is
not on number 2 and 3. Box D is on number 8.

T @R H, §fg=a- A, B, C, D, E, F, G 3R H Ueh & FUX Ueh T T g; AATchd ST 21 (eh IHT
HA | BN TAE 919 W 1 T § ek Ueh GEAT forE! T 31 e’ 1 919 W1 2, SEaT 8 gad Hier § 3R
3T TR 31T fSod o W MU 2

STeRT E oY ATad H ok 1<) T 7T 8| 91T A el 7 W1 3| 91 F Ja 5 U 781 g1 9Te B e 4
X 3| SATeRT D 9T S C Ha) 1 WX 31 S G Fa¥ 3 31 5 W A8 81 | 9t F e 2 3R 3 e 3
e D ek 8 WX B



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not
necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily
in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.
Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on
number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is

not on number 2 and 3. Box D is on number 8.



*

Eight persons F, G, H, I, J, K, L and M attend A3 =ah F, G, H,I,J, K, L IXM Uk & a8 oh
seminar on four different months January, T STAT-3TAT HEHT e, 3T, Tk 3T
April, November and December of the same  feder O Iftqr O 9T o1d  <ifer s/ 9281 fh
year but not necessarily in the same order. =T ST W BT ST Ja <Al 15 3T 25 diiE
Seminar was held on either 15th or 25th of the 3ITRIfSIq 1 TTE off| G TR T 15 TRIRG I FTHAR

/—\ N NEBAN o AN
month. G attends seminar on 15th of the H T AT @ TS9H shaed 30 e B1d 81 M 3T ],
month which has only 30 days. MandJ G & v wom i 3 b i e 34 8, e

attends the seminar in the same month before 373t # 7| M, J % &1¢ AR W AdT 2l F 6
G, but not in April. M attends the seminar m@é AR g Y T aar 2l M A K
after J. No one attends the seminar after F. =1 Sl ek Afeh AR A YT idar 21 H 3T L
Only one person attends the seminar between =] 3TIT-3T G2 HT I 15 I ol SftaR o
M and K. Both H and L attend the seminar on YT old 8] [ fede 9t g 9T a8i oiar 21 L
15th of different months. L does not attend the 37X # Ueh € w4 § AR T 9T i 2

seminar in December. LL and I attend the

seminar in the same month.



Eight persons F, G, H, I, J, K, L and M attend
seminar on four different months January,
April, November and December of the same
year but not necessarily in the same order.
Seminar was held on either 15th or 25th of the
month. G attends seminar on 15th of the
month which has only 30 days. M and J
attends the seminar in the same month before
G, but not in April. M attends the seminar
after J. No one attends the seminar after F.
Only one person attends the seminar between
M and K. Both H and L attend the seminar on
15th of different months. L. does not attend the
seminar in December. LL and I attend the

seminar in the same month.



6 person A B C D E and F are standing 6 5aRF A B C D E 3R F s & 91 oiw
around the triangle such that 3 persons .@%%, ﬁﬂﬁﬁﬂﬁ?@ﬁﬁﬁlﬂﬁm'@%% e 1K
standing in the corer are facing away from the ¥z ¥ T T @ § qor T =afe gerent
centre and 3 persons standing along the side Faeg ‘@é‘% R FT A Wé@é ¥\ 98
are facing towards the centre. Those standing satR ST Ry i _@% S 3= o7 At BT AT

at the corners like either Black or White and . . .
those standing along the sides either Red or gﬁ@;@@;;ﬁ :}'g:::ﬁmﬁg :Tﬁj;'c'{ 5
Blue. E and F standing to the immediate left of he F’Q'EF e EITé‘ o '@'@'%I =
A E ST E 3w =l Y e o e
B T AT F 3R ATE F | A ATk ol Arear ar
qHE gl 2 SUE B 3IRE F T @S a2 1 2
=afvh F 3T A & e @ i & ThaTs

each other. Neither E nor the person standing
adjacent to E likes Black. Neither F nor the
person standing adjacent to F likes Blue. 2
persons are standing between B and E. 2

persons are standing between F and A. C is

standing to the immediate left of the only E&lﬁ-ﬁﬁr\ﬁ‘ =TT 7 IS 7,36k dcehTet ATG
persons who likes Blue . Same number of HITH C '@ETﬁ?IT%‘I HTAT AR AT TT qEE
T ITA SARAT hT GTEATAAT Z |

persons like Black and Red.



6 person A B C D E and F are standing
around the triangle such that 3 persons
standing in the corer are facing away from the
centre and 3 persons standing along the side
are facing towards the centre. Those standing
at the corners like either Black or White and
those standing along the sides either Red or
Blue. E and F standing to the immediate left of
each other. Neither E nor the person standing
adjacent to E likes Black. Neither F nor the
person standing adjacent to F likes Blue. 2
persons are standing between B and E. 2
persons are standing between F and A. C is
standing to the immediate left of the only
persons who likes Blue . Same number of

persons like Black and Red.



There are eight cars A, B, C, D, E, F, G, and H
in a park within a certain distance. Car A 1s
8km to the east of Car B, which 1s 9km north of
Car D. Car C 1s 5km to the south of Car F,
which 1s 6km to the west of Car G. Car G 1s
4km to the north of Car A. Car E is 8km to the
west of Car C. Car H 1s 2km to the south of Car
E. Car G 1s in which direction with respect to
Car C?

1. North

2. South

3. East

4. South-West

5. North-East
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There are eight cars A, B, C, D, E, F, G, and H
in a park within a certain distance. Car A 1s
8km to the east of Car B, which 1s 9km north of
Car D. Car C 1s 5km to the south of Car F,
which 1s 6km to the west of Car G. Car G 1s
4km to the north of Car A. Car E 1s 8km to the
west of Car C. Car H 1s 2km to the south of Car
E. Car G 1s in which direction with respect to
Car C?

1. North

2. South

3. East

4. South-West

5. North-East



\
Some boxes are stacked one above the

other. Box D 1s placed below Box B but not
immediately below Box B. Box D i1s placed
exactly between Box J and Box K. Box E is
placed above Box H. Box F 1s not kept
adjacent to Box B. Box G 1s kept
immediately below box K. Box I 1s not at
the top of the stack. There are three boxes
above box B. There are three boxes
between J and I. There are two boxes
between Box A and Box J. Box C 1s placed
immediately above Box F. There are two
boxes between box B and box K. There are

two boxes between box G and Box F.
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\
Some boxes are stacked one above the

other. Box D is placed below Box B but not
immediately below Box B. Box D is placed
exactly between Box J and Box K. Box E is
placed above Box H. Box F is not kept
adjacent to Box B. Box G is kept
immediately below box K. Box I is not at
the top of the stack. There are three boxes
above box B. There are three boxes
between J and I. There are two boxes
between Box A and Box J. Box C 1s placed
immediately above Box F. There are two
boxes between box B and box K. There are

two boxes between box G and Box F.



